FIORET V1 VHY-ISVY LUAEE—E
AJ—2 (F20km)

B | NC| K & il XD |Z2E|MHER
1 7| TVE BB |[E&TBBJ IN1~3| 3| 3B
2| 8 | B/ N1~3| 2| 3B
3|14 | @@ BB IN1~3| 3|3
419 |WLE B MW1~3| 2 | B
1| 2 | &8 #©% N1~3| 2 | &
2| 4 | I8 8F MW1~3 2 | &
3| 3| ;P BS W1~3| 2 | &
4 | 7 | SE W Ih1~3| 2 | «
1| 37| $#E  F AR/ ha~6| 6 | B
2 |43 | B8 n8 Nha~6| 6 | B
3 (34| B BA |BEFI W4a~6| 5 | 8
4 | 39| BH BE W4~6| 6 | B
1 11| 88 3R (FmELEVET [h4~6| 6 | &
2| 8| B T |[TmELLEE [h4~6| 4 | &L
3| 9|8 24 h4~6| 5 | &
4 (16| ZB 3% N4~6| 6 | &

BJ—X (3. Okm)

NC| K % B XD |FEF|ER
1116 NFE BE |KEP hZEMUE| 2 | B
2 140 | BG& KM |ZR—YDAC [PZEUE| 2 | B
3 |44 | FIR HR |CATASYZVI|PZEME| 1 5
4 | 41| faR 1857 [0 )77 PEMEl 2 | B
1 (17| BO =8 |R@HBP hFEMUEl 3 | &L
2 [18| =@ AR PEMEl 1 | &L
3119 | RROKD hEME| 2 | &
4 | 16| BN —F |[BHBD hEME| 3 | X

CI—XR ($95. Okm)

NC| K & B XD |FEFE|HER
11 2 | HE BT |ZHR—YDAC |&RMUE 5
2| 5 | AEERY 2RI E 5
3 |87 | WE BX |[FEeaKR arRMEl 2 | B
4 | 1| KN =6 2RI E 5
1| 24| kg B)) [FEER arRMEl 2 | &
2 1 |[Frvovy-o35y =y g
3|2 |I&H#A TV- SR E 4
4 114 | KB BE 2R E o4




